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Hello Year 3,

I hope you are all well. 1 am missing seeing you in school.
This week we ore mowving grom smultiplication to look at division.

Division is sharing or putting into equal groups.

I would be really pleased if you could have a go at the gollowing
Questions, but g you only have time to talk ahout them with an .adult
at home - that is OK too.

Mayhe you could read through the sheets .and then sk someone to
~ideo you heing the teacher .and explaining how to w.ork out one .of

the answers!

Whatever you manage to do it would be great iy you could email
LKS2 parents @epcollier.reading.sch.uk .and put Mrs Yeandle and your
name in the subject bhar. It could just be a message to say you have
talked about the work, it might he .a photograph...anything to show
me you have had a go!

Look pormaurd to hearing grom you soon!

Mrs Yeandle

Jan 18-11:43

LI: To divide 2 Adigit numbers by | digit

Ron uses place value counters to solve 84 = 2

e A
OO o :>:) }_—< o | made 84 using place
OO o \_) o/ value counters and

O@O —_— divided them between
Ob o ’ g %g 2 equal groups. |@
i
Use Ron's method to calculate:
84 + 4 66 + 2 66 =3

Jan 18-11:51
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Eva wses a similar method to work out 66 divided by 3, bhut she
has shared her place value counters out into . table. Tip: As she

Y 'IO.I‘SI
QO 0¢
00100

Use Eva's method to calculate:
69+3 96+ 3 86 =+2

Jan 18-11:53

Teddy answers the question 44 + 4
using place value counters.

Tens Ones

Q0|00
©0/00

2)

Is he correct?

Lmagine you .are Teddys teacher. What would you
say to him? Could you draw write something to help him?

Jan 18-11:57



Year 3 Division session 3 Mrs Yeandle.notebook January 18, 2021

. He gollowed similar steps to Ewa.
Exvas sriend #
Charlie ndw solves n-7-5 I: He made 91 with 9 tens counters
3 o . 1 Share the tens ZTWITEMM(
917 like this: 5 Lag (00 M\ semmivionn and | one counter.
: 000 ) §§§§ 2: He drew . table with 7 groups
\,_ 000 A 3: He shared out the tens bhut had 2
[=] Q00 T 4 Sharatha ones tens J.%t LONLr.
Q 000
4: He exchanged the 2 tens legt over
into 20 Ones.

5: Now he has 2| ones to share out,
(baoau&)wahmdghadlamh@oxz
he exchanged his two tens gor ones).

Jan 18-12:03

Let ws look at another example where we need to exchange.

Ones

:

85 divided by 5

®|@|®]]|®

I have 3 fens that .......... I now have 35
I cannot share out _—».......... ones to share out.

them gor 30 Ones. ........

Jan 18-12:04
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Can syou triy these:

Jan 18-12:07

Sometimes when we divide into equal groups there may he some legt
over. These are called remainders.

How many squares can you make with 13 lollipop sticks?
There are __ lollipop sticks. —

There are ___ groups of 4 { w ‘ ‘ ‘ ‘ ‘ H
There is __ lollipop stick remaining.
13+4=__ remainder __ B

Use this method to see how many triangles you can make with 38
lollipop sticks.
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Use place value counters to work out 94 + 4
Did you need to exchange any tens for ones?
Is there a remainder?

o0 000
oo%ooo

Tens Ones

Jan 18-12:23
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